900
L=760.5m
V=40km/h
W=7.75m(11.25m)

1 (139.5m)

H21

R6

2,300

50.0%

1,630

29.4%

670

100.0%

L=760m

L=900m

B/C=59




11

16,040

L=9,700m
L=4,200m
L=500

L= 16,736m
V=829,733 3
L= 17,566

3
8

R1

16,040

42%

14,123

46%

1917

14%

L=1,041m
V=45,960m3
L=2,178m
2

1

15,695m
783,773m3
14,368m
3
6
6

B/C 873

B/C




503

H15

H26

2,335

H27

2,444

17

25

C0o2

1,253,173.2t-CO2/

1,252,504.0t-CO2/
668.6t-CO2/

No.1

JCT

27

31

JCT

WEB

2,695

615

66%

866
WEB

76%




504

L=990m
L=1,450m
V=18,500m3 H29 1,500
L=1,450m

4

1

H6
H26 1,378

29 10

30

B/C

6,509
6,102
5,406
5,053
4,236

2,065
2,003
1,941
2,038
1,991

25%

80

61%

49

79%

63%

75%




